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CA}F Model : 1115 3= 7|(140tonf) & HAE ZAx}

58 2= A1 (Bl : 10°HZ) HAE22 (EHRl : 10°HZ)
°C) Gage 1 Gage2 Gage3 Gage 1 Gage2 Gage3
27 6480.5 6566.4 6154.8 6481.1 5579 5908.7
40 6493.7 6576.9 6169.3 6494.7 5591.2 5921.6
50 6504.9 6584.5 6178.3 6504.5 5602.5 5930.5
60 6515 6593 6188.7 6514.6 5612.7 5937.9
70 6524.8 6600 6198.8 6525.3 56224 5948.2

HE19| AO|X| WE = 2118725 tonf/10°Hz? 0|11 Diff. sum = 121.9 (10°Hz?)0|2 2
25 A%== 0.060 tonf/°C(0.043%FSR/ °C)

HAE29| HO|X| ME = 216721 tonf/103Hz? O] Diff. sum = 127.1 (10°Hz?)0|2 2
25 A= = 0.064 ton-f/°C(0.046%FSR/ °C)

@ ACE INSTRUMENT CO., LTD.

www.aceinstrument.com




